Consultation on Activity 12 of PIP Assessment criteria

I am a family carer of a person with Downs Syndrome so she qualifies under activity 11.  However I know many people with disabilities who qualify for this Activity., I myself have COPD, which means that I walk slowly, a journey that takes my daughter 10 minutes takes me half an hour.  How many people with severe disabilities or their carer  work at the DWP?

Following the last consultation , it has been decided to reduce the criteria for receiving the largest number of points to 20metres from 50 metres.   According to the literature 20 metres is the basic amount for moving around ones home.  50 metres to walk from the car park 50 metres to 200 metric   is considered to be the distance to travel around a small supermarket.   Not everyone has a car – how do they reach these places if they are more than 200 metres  not many places are flat, are hills considered, how much extra time does one need .

The scoring of this activity should be re-examined.  As I understand this activity it is to enable people who can plan and make arrangements to travel, but their capability to walk is limited by disability or long term illness.  If one can only walk  50 or 200 metres this is limiting their opportunities to enjoy the outdoors without a car, electric buggy or wheelchair.  If one does not have  one is reliant on another person, even to get to ones employment. Changing the threshold could mean that a person is no longer able to get an adapted vehicle through the mobility scheme, or a blue badge without going through the local Council procedure.

It seems to me that the Department of Work and Pensions and the Department of Health do not work  together. The D of H is looking at the Health and Wellbeing of the individual whereas the DWP is isolating people instead of giving them the opportunity to be more independent, this could increase the likelihood of causing stress, depression and other physical and health problems.
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